0—43 KitoFE®ir>w<
FERFLEPY TH KX B M

Brorpk Hr=RERRE<HFH T3 E» B 2oMR &I w3 &, FE
RARE L) RECHB LEE o xr v, FHINRFEr> v 6fr =20 BRr KL
AR, B ERTRNDFAONRI BroER et FHE<HUAT2 IR R w W
FLSSERBrAR L AR LI TR CRETESR T WS,

EREENL « BEE %LM%@* e T v, BRERAES S5 3 = x
o R s 3. Wo ¢ 2 TARLY TN BErs > <BEBLEFER I A E> o
T R AT,

BEEKLE> 1 9B 2ToREBELERDN S <6 F 39 TE )BT T o, L
BEEB L AB, T b5 LERRA 0D el i B L CERET) ¢, B
3o B EaRyY B2 k, Salas 5 tih A7 w3 ¥ j k3 AT e 3 e
wk3. 208 R, KBia ik, Bl r O B LIRE TR RN . —H
LT, ERRESE s )b ERRE0 E e s B REAL e LT 5K 4 MR
F32vabnn w3, 3ERIAK LT @i‘fﬁjmﬁ/{z\ <Hmse, WES A3}
A EN LTI R EE w3 T3 e CRE]L, ’2(0/\7:}3’9 ~ Kk & o SRR, BRIEF
O NGH,IBT r RIB2T s 5 ) FFD.

TR FIECE S 0T TR - Ao kAT ] @RS 8GR A G T oA
S RBE R BRI B AR TS £ 9 TH3 05, Lillo = x <HT 9 B3 BEAE
w54 B3 8 FRARG T, Bro B4 R FBotnE EREL HT 3 AT 22N
LB RE e h g B FE R s 005 x Rbha, LoB@EHRE T 300, 2
o3 E s BE LR R x e~logp B SRR IR cRER T3 2 et
sy, Bri~E-8 2 RIPGR A T3 L2 TH3,

H-1, -2 @ XBAHE 2 cEHE 5 )RR L R E- Do BB s - o < BHEEK
B Ao ¢ BERT ~FHRIE DR oA v T L, WME T R0 EEEEE 0%k o
B3RS e HE = REREBHRTHS., B3rcAi g (=REER 7 -7 4B
MoRE TH3 0o b, ERA 00k wE3 BFEYF - t=REEFECTwd T T TH> <
, 100 BBy o BlrE U E=REEE«E 3] »riie § e T3) e ERA LI
“TeyLELta T, U<<rcf<;erzrr/’%—z¢‘TEJ§§, O>0. 3L zﬁ?‘-[‘ﬁ@éz_&nzvﬂc}}
5. Gd =R EREDER G ddlgt Y ERIA 0 Wk T, OO oS RE THBER
BYEPRAD T3 05, 020 TAE GBS MBEF AL S b E o B-5~ @7 5 EHIER C L E
A Q BB T AL G £ 3 o (e-S) kLT T sk LBt TH3,

B-8 & AL 0 EESR o BH e =788 (8. /8. 50%) v EX ¢, = REBBHK
o DL 9 B I~ h RRES (Fe, MmO Ao FHrx3) v2B LRI T, 223
BEMR e LIRWMEI LT T2 3 2 ¥ AR~ 3,

__95_.,



0 0‘0‘ 0 10 ol :p‘ lp‘ i3
i
———— 1.6 Wi’
3.2 Kakw*
6.4 k34wt
Q10r
uJ
020k .
--------------- 25654
_____ - Secondary consclidation
L L L L .
M—2
50 15 o
ol [ © ©—0- Alluvial cmﬁ
g ) ‘ -0—0- Dituvial Clay
q .
2 ’°:§> L
& S0 k ;
. 08 =
< 6o 4 210
L
% 50_3 50 g\ -%, ,
5% 05 @05
B 49 2 3 =
" 503 = a
20 720%
10 e
0 a = ° T .
€ 0 10
. g K/en?
—3
B—4
1.0
0.6 <
. ‘ 17,L<-“‘J“ |
i 5F oL
5 . 4r ° |
4 o o3& ° e
b sl p=\8
2t -
. 2
0

—96—





